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@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

Rs 68000 is divided among A, B and C in the ratio of > : = : = . The difference
of the greatest and the smallest part is

68000 T F TH THL A,B 3 C & Rvfrg wr R sgmma & 212~ dvad
AR e R s AT H?
(1) Rs 6000
2)Rs 14449
(3) Rs 9200

(4) Rs 16000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

The ratio of the age of Ram and Shyam 15 years ago was 2:5.
The ratio of their present ages is 5 : 8. What will be the present
age of shyam? (in years)

15 9T Tget T ST SATH T AT T AT 2:5 AT| STl TAATT Y
T ATATT 5 : 8 Bl TATH HT QAT Y FAT gHIT? (T H)

(1) 10
(2) 15
(3) 25




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)
If the price of sugar increases by 20% one can buy 2kg less for

Rs 50. what is the amount of sugar that could be bought before
price hike?

T =T & Faa § 20% #r Fig AT g qT 98 50 TIF | 2 foheAr w7
AT AT 81 AT FT AT T X ST o g § Tt GOaT ST qhaT

T ? (1) 10 kg
@17

(3) 14 kg

(4) 16 kg
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

In an assembly election , a candidate got 55% of the total valid votes. 2%
of the total votes were declared invalid. If the total number of voters is
104000, then the number of valid votes polled in favour of the candidate

T SFTAT Y F 99 /Al T 55% /AT T et § § 2% A A7 NN
X foaT am afe wasTarstt Ft $& G4 104000 g, A7 SHIAR & 7 § e

T 3 el A GSATTA TS

(1) 56506

(56550

(3) 56560
(4) 56056




SSC CGL/CHSL TIER 2 (CRASH COURSE)

=
A merchant loses 10%by selling an article. If the cost price of the
article is Rs 15, then the selling price of the article is

T ATAT TH qeq o9 H< 10% Ft AT AT 8. IS aq
Y AT qET 15 TIX 8, AVl &g T fSshl T FATQ ?

(1) Rs 13.20

@)Rs 16.50)

(3) Rs 12.30
(4) Rs 13.50




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Two toys are sold at Rs 504 each. One toy brings the dealer a gain of 12% and
the other at loss of 4%. The gain or loss per cent by selling both the toys is

3T &=t 504 T9F # 99 (TA 81 Tah f&GHET ST 12% FT ATH 3L 4% & THATTH I
T ATAT 8. AT TARIAT FF F=HH< ATH T FIA TAqT 2

(1 3% profit
(2) 4 1—53% profit
®) 5%% profit

3
(4)21—3% loss




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A Fruit seller buys 100 kg . Of superior variety of mangoes at Rs.45 per
kg and 200 kg . Of inferior variety at Rs. 40 per kg and sells all the
mangoes at Rs 45 per kg. the profit percentage of the fruit seller is

TF % fashar 100 fFer s # dgax e sdiear g e fima 45 s
wfa fFT 3ii 200 fFer 40 T93 wia frer it << & e fave =t site asft s
45 w9 aia e faar @1 v et fasar 1 amw g g

(1) 25
(2) 223
(3) 12.5

|




SSC CGL/CHSL TIER 2 (CRASH COURSE)
The cost of manufacture of a tape recorderis Rs 1,500. the
manufacturer fixes the marked price 20% above the cost of
manufacture and allows a discount in such a way as to get a
profit of 8%. The rate of discount is.

T 9 Rt & fAwior it amra 1500 T3 g1 Ratar
Awtr it e F =TT 97 20% FaT tF FIAT § i}
8% T ATH TTH FLA & [T FE AT gl AT FE T IR,

(1) 12%
(2) 8%
(3) 20%
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

In certain years a sum of money is doubled to itself at 6%%
simple interest per annum, then the required time will be

FS IUT H G it LR, A T FTLTIOT SATST I IREAT BV STt 8, 6

offeme ]

(2) 12 %years

(3) 8 years

(4) 10 g years




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A sum of money invested at compound interest amounts to Rs 650
. at the end of first year and Rs 676 at the end of second year. The
O sum of money is

Tl AT UL [Haer T TS TOIA I8« 99 & Hq # 650 T
AT AT F AT H 676 TAA | AN AXFTAT &

(1) Rs 600
(2) Rs 540

(4) Rs 560




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

A and B can do a piece of work in 15 days and B and C can do in
10 days , and A and C can do the same in 12 days. Time taken by
1 A.Band C together to do the job is

AMRBFHAH 15 RT A FXFFarg B AT C 10 o7 # <
qHhaT g, MCA M C 12 fRAT & FLa*har g.ar A ,B3XC
g0 T 91 feT g W e & e 8

(1) 4 days
(2) 9 days

s

(4) 5 days




SSC CGL/CHSL TIER 2 (CRASH COURSE)

The difference between compound interest and simple
? interest on a certain sum of money for 2 years at 5% per
annum is Rs. 41. What is the sum of money ?

TG 1 SATST ST THTII ST & A1 2 I & frq 5% T a9
o= T fAfera Tfr . siat 41 T0q 1 g FTART FAT 8 2

(1) Rs. 7200

(2)Rs-9600 |

(3) Rs. 16400
(4) Rs. 8400




SSC CGL/CHSL TIER 2 (CRASH COURSE)
A does 2/5 of work in 9 days. The B joined him and they
3 together completed the remaining work in 6 days. B
alone can finish the whole work in
A, 9 faAT ¥ FTH FT 2/5 FIAT 8. B STqF AT ATHR FT 14T
AT T 6 faoi § AT FTH T FT AQ & B TFat TL FTH F fohae
AT § G FT THhaT &

(1) 6 (12/13) days
(2) B(2/11) dajs
(3) 10 days

(4) 18 days




SSC CGL/CHSL TIER 2 (CRASH COURSE)

( To form triangle ABC what will the possible length of
sides of triangle are —all in cm

4 B ABC T ¥ g Breror 3 weit it wsrer sars /S
ot &

(1) 2,3,6
(2) 34]5
(3) 2.5,3.5,6
(4) 4,4,9




1

SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train leaves a station A at 7 am and reaches another station B at
11 am. Another train leaves B at 8 am and reaches A at 11.30 am.
The two trains cross one another at —

TF 37 G 7 991 UF RATA ¥ et & ik 11 S g RITB T
TEAA 8 TF AR I gEg 8 T B & Aawdi E iR 11.30 A T
TR &1 AT AN T qET A R FHT O IR A E -

(1) 8.36 an

(2)}8.56 am
(3) 9.00 am
(4) 9.24 am




SSC CGL/CHSL TIER 2 (CRASH COURSE)

1 a=+vV6++5b=/6—-/5,
2a? - 5ab + 2b? - ?

(1) 38

525 39

(4) 41




SSC CGL/CHSL TIER 2 (CRASH COURSE)
1 x=3+2/2,

1) _
7 (F-3)=
(1) 1
(3) 2v2

(4) 33




SSC CGL/CHSL TIER 2 (CRASH COURSE)

L) 2]
(2) 3 (1/5)
(3)3
(4) 0

ey o 7 4 TN T OITE TN T R




SSC CGL/CHSL TIER 2 (CRASH COURSE)

If @ is a positive acute angle and cosec e=v3, then the
9 value of cot 6 — cosec 0 is —

i< 0 TF gATcHE LA HI g 3T cosec 6=v3, AT cot 6 —
cosec 0 HTT 1A FYL?

3v2-/3
(1) 2%
2) V2(3+V3)

o

(4)no




SSC CGL/CHSL TIER 2 (CRASH COURSE)

2 XYZ is a right angled triangle and Y = 900, If XY = 2.5
cm and YZ = 6 cm then the circumradius of AXYZ

0 XYZ u= ga=or et 8 s Y = 900 #)1 If¥ XY = 2.5 +ft
M YZ = 6 AT g, ar aiRE=ar F1a F<?

(116.5 o]
(2) 3.25 cm
(3) 3cm
(4) 2.5 cm




